EEREBEHRSRE=2YI/RE (RRFHESE) KFE
(FRz26%6 A1 1A~FH2 648 H8HEM)

RF AR ER M RAT (RSHRIL)
BERKEARSE RFHID

ERHEE (uSv/h)
B _ _ — MEERH AR BE - "—ILF " - kL
No. ETA KSR PR WEAR |MEES | (B - = osn %
nEEE| PR [wEEx| o) (neEx
R R R
~ 50cm 0.10 0.09 0.07 0.08 0.08 0.09
2278 | SiREIT |BREA T BRI AT 6A128 FE
1m 0.09 o1o[ 007 0.08 0.08 0.09
50cm 0.08 0.10[ 006 0.06 0.07 0.07
2279 | iREIT |REARNE 1267 6A128 ME
1m 0.07 0.09 0.07 0.07 0.07 0.07
50cm 0.08 o.10[ 007 0.06 0.07 0.08
2280 | SIREWT |\ARE I\FRT 68128 R
1m 0.08 o1o[ 007 0.06 0.07 0.07
50cm 0.08 0.09 0.08 0.08 o10[ 010
2281 | SIREIT |WATRATRSAE AT 68128 FE(X)
im 0.09 0.09 0.09 0.08 0.09 0.10
50cm 0.08 0.09 0.07 0.07 0.08 0.09
2282 | SiBEIWT |WAT—BHRIME AT 6A128 M=
im 0.08 0.09 0.07 0.08 0.07 0.09
50cm 0.07 0.09 0.07 0.07 0.06 0.07
2283 | SIREWT |WAT=RATRAE AT 68128 FE(X)
im 0.07 0.08 0.06 0.07 0.06 0.08
50cm 0.07 0.08 0.06 0.07 0.06 0.06
2284 | siEEIT |/NRIETREE AT 68128 =
1m 0.06 0.07 0.06 0.06 0.07 0.07
50cm 0.09 0.10[ 006 0.09 0.07 0.08
2285 | SIFEWT |/ EETH RAE ) 6A128 EES
im 0.09 0.10[ 006 0.08 0.07 0.07
50cm 0.07 0.09 0.06 0.07 0.07 0.09
2286 | RRENRT |ZEMTNAESR S ERAT 64138 EES
1m 0.07 o.10[ 008 0.07 0.07 0.09
50cm 0.07 0.11 0.05 0.07 0.06 0.08
2287 | SFHEMT |HEANEREE B 6H128 M=
1m 0.07 0.09 0.05 0.06 0.06 0.08
50cm 0.07 0.10[ 006 0.07 0.07 0.08
2288 | RIBEWT |ER7EARE ER7E3TH 6A13R EE
im 0.07 0.10[ 006 0.07 0.06 0.07
50cm 0.06 0.08 0.06 0.06 0.07 0.09
2289 | RIBET | RHETRTARAE Bl 64138 EE
1m 0.06 0.08 0.06 0.06 0.08 0.08
50cm 0.07 0.10[ 006 0.08 0.06 0.08
2290 | iEFEWMT |BA—TEHRER Fafr 6A138 M=
1m 0.07 0.11 0.07 0.08 0.07 0.08
50cm 0.06 0.08 0.06 0.08 0.07 0.08
2201 | SiEEINT | RETATAREE AT 6A138 HE
1m 0.06 0.08 0.06 0.08 0.07 0.07
50cm 0.08 0.09 0.06 0.07 0.06 0.08
2292 | siEHEIT |SRETETNREE SRET 64138 KR
1m 0.07 0.09 0.05 0.07 0.06 0.08
50cm 0.09 0.11 0.05 0.07 0.07 0.08
2293 | EHEMT |KR—TEHRERME *KR1TH 6413 EES
1m 0.08 0.12 0.06 0.07 0.08 0.08
50cm 0.07 0.09 0.06 0.07 0.07 0.09
2204 | siEEWT |(WMERRZTERARE  [HEE 6A138 EIES
1m 0.07 0.09 0.06 0.07 0.07 0.09
50cm 0.07 0.09 0.05 0.06 0.06 0.07
2205 | siEEIT |WEEYRERME mTE 6A128 =
1m 0.06 0.08 0.06 0.07 0.07 0.08
50cm 0.07 0.08 0.06 0.06 0.06 0.07
2296 | siEFEIT |P)IRETETNREE )| BT 6A128 KIEM
1m 0.06 0.08 0.06 0.07 0.06 0.07
50cm 0.06 0.10[ 005 0.07 0.06 0.07
2297 | RIBEWRT | BRI FELRE AEAET 64128 EES
1m 0.06 0.09 0.05 0.07 0.06 0.07
50cm 0.07 0.09 0.06 0.07 0.06 0.06
2208 | siEEMT |AERAN FHEME AEHE 6A128 ME(X)
1m 0.07 0.08 0.05 0.07 0.06 0.07
50cm 0.07 0.09 0.07 0.07 0.07 0.08
2299 | EHEWT |RABRA M (RERM) | KET 6A128 =1
m 0.08 0.10[ 006 0.07 0.07 0.08
50cm 0.07 0.09 0.06 0.06 0.06 0.08
2300 | RIBEWRT |R)IETRERLE L 6A1280 HE(X)
m 0.06 0.07 0.07 0.06 0.05 0.07
50cm 0.08 0.07 0.06 snzess - p1jgrias _
2001 | £RENT |BEAATALE ELaE 6A128 HER) K WAREDLK. W
m 0.07 0.07 0.07 A
50cm 0.11 0.13 0.07 0.07 0.07 0.07
2302 | EHWMT |HARENRERA BTALET EFTABEHAR 6A128 FE(X)
m 0.11 0.12 0.07 0.07 0.08 0.08
50cm 0.08 0.09 0.05 0.06 0.08 0.08
2303 | REWRT | LB+ TERRSE Lig=1ig 6A138 HE
m 0.08 0.10[ 006 0.07 0.07 0.08
50cm 0.07 0.08 0.05 0.06 0.05 0.06
2304 | EHEWMT |BEAFEIETANRE B#ET 6A128 E(X)
m 0.07 0.08 0.06 0.07 0.05 0.06
50cm 0.09 0.10[ 005 0.06 0.06 0.07
2305 | RIBEWT | FRHBTRTAREE B #78T 6A138 EES
m 0.07 0.10[ 006 0.07 0.05 0.06
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EEREBEHRSRE=2YI/RE (RRFHESE) KFE
(FRz26%6 A1 1A~FH2 648 H8HEM)

RF AR ER M RAT (RSHRIL)
BERKEARSE RFHID

ZHEREE (uSv/h)
B _ _ — MEERH AR BE - "—ILF " - kL
No. ETA KSR PR WEAR |MEES | (B - = osn %
nEEE| PR [wEEx| o) (neEx
R R R
50cm 0.07 0.08 0.07 0.09 0.08 0.09
2306 | SIRERT | WALV AERR ZRET 6A130 KILFE
1m 0.08 0.07 0.08 0.09 0.08 0.10
50cm 0.07 0.10 0.06 0.07 0.07 0.09
2307 | SIFHEWRT | BHETNSE B #ifr 6A16H R
1m 0.08 0.10 0.06 0.06 0.07 0.08
50cm 0.07 0.08 0.06 0.06 0.06 0.09
2308 | siEHIT |RATRMERATATNRAE) [ SiEEr 6A168 HE
1m 0.07 0.08 0.06 0.07 0.06 0.07
50cm 0.07 0.10 0.05 0.05 0.06 0.07
2309 | siEHEIT |/\BETEULREE J\B T 6A16H R
im 0.07 0.10 0.05 0.07 0.06 0.07
50cm 0.06 0.09 0.06 0.07 0.07 0.07
2310 | SRENT |AARSNHLRE E9210 6A168 =
im 0.07 0.09 0.06 0.07 0.07 0.07
50cm 0.08 0.12 0.06 0.08 0.07 0.08
2311 | SiEEm |NMERF T ZRET 68168 ME
im 0.09 0.12 0.06 0.08 0.07 0.08
50cm 0.08 0.11 0.06 0.09 0.08 0.11
2312 | SIRERT |EETRNSARE Eip=lig 6A178 =
1m 0.08 0.10 0.07 0.09 0.09 0.11
50cm 0.06 0.08 0.06 0.07 0.07 0.10
2313 | SIREWRT | HEETR AT 68238 KIEM
im 0.06 0.08 0.06 0.07 0.07 0.09
50cm 0.09 0.11 0.08 0.10 0.08 0.09
2314 | SFHEWT |MARTRE HARET2TH 6A16R EES
1m 0.09 0.10 0.10 0.10 0.10 0.09
50cm 0.08 0.09 0.07 0.07 0.07 0.08
2315 | SIREWRT |EHETATAREE AT 6A16R EE
1m 0.08 0.09 0.07 0.07 0.08 0.09
50cm 0.12 0.12 0.07 0.07 0.07 0.07
2316 | RiRENT |WAEATRE il 6A168 HE
im 0.11 0.12 0.07 0.07 0.07 0.08
_ 50cm 0.10 0.12 0.07 0.07 0.09 0.09
2317 | &iRENT |EEETEARE FARET 6A168 ME
1m 0.09 0.11 0.07 0.08 0.09 0.09
50cm 0.12 0.14 0.07 0.08 0.10 0.11
2318 | SiBEIH | KIIETREE HIRET 6A168 M=
1m 0.11 0.12 0.08 0.08 0.11 0.11
50cm 0.08 0.09 0.06 0.07 0.11 0.12
2319 | EHENMT |BNATNREE WIERTEEATFREA 64168 KL
1m 0.09 0.09 0.06 0.08 0.10 0.11
50cm 0.10 0.10
2320 | siEEIT |RIIETNREE wIEETRmEA TR 6A138 EBHAOHRE
1m 0.10 0.11
- 50cm 0.09 0.10 0.07 0.07 0.09 0.10
2321 | EENT |BABRRERA IERTRM AT/ 64138 ME(X)
1m 0.09 0.09 0.07 0.07 0.09 0.10
50cm 0.09 0.10 0.07 0.08 0.11 0.13
2322 | siEEIT |HIRETAREE #WRATH 6A138 ME(X)
1m 0.10 0.11 0.08 0.09 0.11 0.13
- 50cm 0.08 0.09 0.08 0.08 0.08 0.09
2323 | iEENT | EEHBERA il 64138 MECM)
1m 0.09 0.08 0.08 0.09 0.09 0.09
50cm 0.09 0.10 0.07 0.06 0.08 0.08
2324 | SEFEIT |RETETAREE HMARHET 64138 EIES
1m 0.09 0.09 0.07 0.07 0.08 0.09
50cm 0.09 0.09 0.06 0.06 0.07 0.07
2325 | RIRENRT |EHRE g 6A138 =
1m 0.09 0.09 0.06 0.06 0.07 0.06
- 50cm 0.08 0.09 0.05 0.07 0.07 0.08
2326 | iEHEWMT | ERABERA ETILET ERABFER 6413 =1
1m 0.08 0.07 0.07 0.06 0.06 0.08
50cm 0.06 0.07 0.06 0.07 0.06 0.08
2327 | EHEWMT |TRABARE BTLRTIAF FHRAH 6A138 m=E
m 0.07 0.08 0.06 0.06 0.07 0.07
50cm 0.14 0.14 0.09 0.09 0.10 0.10
2328 | EHEMT |BRERAM BT 4L BT 45 = B 8K 6A168 =
m 0.13 0.14 0.09 0.09 0.10 0.10
50cm 0.13 0.14 0.07 0.07 0.07 0.09
2329 | FHWT |F/AXRE BriLETIAS /B 6A168 E(X)
m 0.13 0.15 0.07 0.08 0.07 0.08
50cm 0.08 0.12 0.05 0.07 0.07 0.09
2330 | SEHEWMT | EEMRERA BT JL BT R 2 S BE 6A168 m=E
m 0.08 0.11 0.06 0.08 0.07 0.09
50cm 0.09 0.09 0.08 0.06 0.09 0.10
2331 | EHENT |REARE BT L BT RRE F R = 6A168 m=E
m 0.08 0.09 0.08 0.06 0.09 0.10
50cm 0.11 0.12 0.07 0.08 0.10 0.11
2332 | FENT |FRARE(FRARE) |ELETHIRFER 6A8168 mn=E
m 0.11 0.12 0.07 0.08 0.10 0.10
50cm 0.08 0.09 0.07 0.07 0.09 0.10
2333 | EHEWT |PHPTHER R BTAL BT R s 64168 E(X)
m 0.09 0.10 0.07 0.08 0.09 0.10
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EEREBEHRSRE=2YI/RE (RRFHESE) KFE
(FRz26%6 A1 1A~FH2 648 H8HEM)

RF AR ER M RAT (RSHRIL)
BERKEARSE RFHID

ERHEE (uSv/h)
B _ _ — MEERH AR BE - "—ILF " - kL
No. ETA 2SR PR WEAR |MEES | (B - = osn %
nEEE| PR [wEEx| o) (neEx
R R R
_ ~ N N 50cm 0.11 0.11 0.07 0.07 0.09 0.10
2334 | SRENT | LEHREMEESFHT EHNEEHFHR 6A16H FE(X)
1m 0.11 0.12 0.07 0.08 0.09 0.10
B N N 50cm 0.12 0.13 0.08 0.08 0.09 0.10
2335 | EHEWT | FEF EHIIIFTEE 6A16H FE(X)
1m 0.12 0.13 0.08 0.08 0.09 0.10
TmmEge & 50cm 0.08 0.10[ 005 0.07 0.07 0.10
2036 | 2pmm L0 DRFEETHERRIE | s apg) 2z 6A18A = (X)
B 1m 0.08 o10[ 006 0.08 0.07 0.10
50cm 0.08 0.15 0.07 o.10[ 009 0.13
2337 | RiBEIT |HREKR BEETHRE 6F 1880 ME
im 0.09 0.15 0.07 0.12 0.09 0.14
50cm 0.08 0.11 0.06 0.09 0.06 0.08
2338 | EHEWT |RIRARE HHEETFIRFRIR 6A188 FE(X)
im 0.09 o10[ 006 0.09 0.06 0.08
~ N 50cm 0.09 0.14] 006 0.09 0.07 0.09
2339 | EHEWT |BEARRERRA BRI 6A18H =
im 0.09 0.14| 007 0.08 0.08 0.10
~ N 50cm 0.08 0.12 0.06 0.08 0.07 0.09
2340 | SIFHEWT |BRERH BERIRRFEARE 6A18H =
1m 0.09 0.12 0.06 0.08 0.07 0.08
- N 50cm 0.08 0.12 0.06 0.07 0.06 0.09
2341 | RIFEWT | TRERMH BEETE 6A188 HE
m 0.08 0.11 0.07 0.08 0.07 0.09
50cm 0.07 0.10[ 006 0.08 0.07 0.09
2342 | FHEWMT |FATEARME = AT R ATE 6H268 M=
1m 0.07 0.10[ 006 0.08 0.06 0.10
- N 50cm 0.08 0.09 0.06 0.07 0.06 0.09
2343 | EHEWMT |BARKRAH EHIFBEFBAR 64188 ME(X)
1m 0.08 0.09 0.06 0.08 0.07 0.09
- N 50cm 0.10 0.12 0.08 0.08 0.09 0.09
2344 | 2FHEWT |BBERR =R BFERE 6A16R EES
m 0.10 0.12 0.07 0.08 0.09 0.10
o 50cm 0.08 0.09 0.06 0.07 0.09 0.09
2345 | RIFEWT |FERFRRHR HIERT R E A FHE 6A16R EES
1m 0.08 0.08 0.06 0.08 0.09 0.11
- 50cm 0.08 0.09 0.06 0.08 0.07 0.08
2346 | FHWT |REARE (REKKM) |[WHENXE 6A178 M=
1m 0.08 0.10[ 006 0.08 0.07 0.08
P 50cm 0.09 0.11 0.07 0.07 0.09 0.12
207 | gt |REETEREEBONE 6A168 HE(X)
= 1m 0.09 0.12 0.07 0.08 0.09 0.11
50cm 0.11 0.13 0.07 0.08 0.08 0.10
2348 | RIBEWRT |REFARE HIBRTRHM 64168 EES
1m 0.11 0.14] 008 o.10[ 008 0.11
50cm 0.08 0.08 0.05 0.07 0.06 0.08
2349 | FHEIT |BANRRME BAR1TH 64168 KL
1m 0.08 0.09 0.05 0.07 0.06 0.08
= P 50cm 0.10 0.12 0.06 0.07 o10[ 012
2350 | st |ZLERERCRIRIE | cpvmr 2110350050 6R168 e
== m 0.09 0.12 0.06 0.07 0.09 0.1
N - N 50cm 0.15 0.18 0.09 0.09 0.11 0.12
2351 | RIBEWRT |SRFBERF iEET = AT E 68218 EES
1m 0.15 0.16 0.09 0.09 0.11 0.12
N - N 50cm 0.07 0.08 0.05 0.06 0.06 0.07
2352 | iRENT |SHEABERFT IEETE 6A168 =
1m 0.07 0.09 0.05 0.06 0.06 0.08
50cm 0.20 0.17 0.08 0.08 oto[ o1
2353 | siEFEIT |HBEAF WIEETLMAF TEAR 64188 MECM)
1m 0.16 0.17 0.08 0.09 0.09 0.11
50cm 0.08 0.09 0.07 0.08 0.07 0.09
2354 | RIBEWRT |RBIEARE HIERT R 15 6A18A =1
1m 0.08 0.09 0.07 0.08 0.06 0.09
50cm 0.11 0.14| 007 0.08 0.08 0.10
2355 | RIFEWT |RE IR 6A18R HE(X)
m 0.11 0.15 0.07 0.08 0.09 0.11
N o 50cm 0.10 0.13 0.06 0.08 0.06 0.09
2356 | RIBENT |BARE BIBRTBATEA 6A18R EEQD)
m 0.10 0.14| 006 0.08 0.07 0.10
50cm 0.07 0.09 0.06 0.07 0.07 0.09
2357 | SEHEMT |PHERM PIER BT 87 F B EK 6A18R =
m 0.08 0.09 0.06 0.08 0.08 0.09
50cm 0.09 0.10[ 005 0.06 0.07 0.08
2358 | EHEMT |RFARE PERTERFFH T 64198 FE(X)
m 0.10 0.11 0.05 0.06 0.06 0.07
50cm 0.06 0.09 0.06 0.07 0.07 0.07
2359 | SEHMT |EARERE PIRBTER FITZ T 64198 FE(X)
m 0.06 0.09 0.07 0.07 0.06 0.08
50cm 0.07 0.08 0.05 0.06 0.06 0.07
2360 | siEHEIT |—/IEERFT PIEET— /iEFH T 64188 E(X)
m 0.07 0.09 0.06 0.07 0.07 0.07
50cm 0.08 0.09 0.06 0.07 0.06 0.07
2361 | FHEIT |TERESHBEF) P BT &) FIER 64188 mn=E
m 0.07 0.09 0.07 0.07 0.06 0.07
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EEREBEHRSRE=2YI/RE (RRFHESE) KFE
(FRz26%6 A1 1A~FH2 648 H8HEM)

RF AR ER M RAT (RSHRIL)
BERKEARSE RFHID

ERHEE (uSv/h)
B _ _ — MEERH AR BE - "—ILF " - kL
No. A KFERT FR7EHE BEAR |AESS (B4) = " DEH wE
nEEE| PR [wEEx| o) (neEx
R R R
~ 50cm 0.06 0.08 0.05 0.07 0.05 0.09
2362 | EHEWT |PRERRM PIERETE | FH SR 6A198 FE(X)
1m 0.06 0.08 0.05 0.06 0.05 0.08
50cm 0.06 0.08 0.05 0.07 0.06 0.07
2363 | EHEWT |EIIARE PIERETE )| F L5 68198 HE
1m 0.07 0.07 0.05 0.08 0.05 0.07
~ 50cm 0.08 0.09 0.06 0.07 0.07 0.07
2364 | sEHEIT |IRERAT PIERETE I FiR 6H208 HE
1m 0.08 0.08 0.07 0.07 0.08 0.08
~ 50cm 0.07 0.09 0.05 0.06 0.06 0.08
2365 | SIREIT |RES BMERR PIBETFIRE 68198 R
im 0.06 0.09 0.05 0.07 0.05 0.08
~ 50cm 0.07 0.10[ 006 0.08 0.06 0.08
2366 | siEHEIT |RIREKRAT PIERETIRIRF £+ 6A278 FE(X)
im 0.06 0.09 0.06 0.08 0.06 0.08
~ 50cm 0.05 0.07 0.05 0.06 0.05 0.07
2367 | iEHENT |FELBRFHASPTHERER (FBRTELEDONER 6A198 FE(X)
im 004 007 0.05 0.06 0.05 0.06
50cm 0.06 0.09 0.06 0.08 0.07 0.09
2368 | SIFHEWT |AERLARE PIBETREFRER 68198 =
1m 0.06 0.09 0.06 0.08 0.07 0.09
= = 50cm 0.08 0.10[ 006 0.08 0.06 0.08
2369 | sty [LEERARMOLTAR |y gp 6A198 e
s im 0.07 0.10[ 006 0.07 0.06 0.07
- 50cm 0.07 0.12 0.05 0.07 0.06 0.07
2370 | EHEWMT |ERMLERA Ecl 6A198 M=
m 0.06 0.11 0.06 0.07 0.06 0.07
50cm 0.09 0.09 0.07 0.06 0.08 0.09
2371 | RIBEWRT |EEETNSE fE BT 6A18H =
1m 0.09 0.09 0.06 0.07 0.08 0.08
50cm 0.10 o10[ 007 0.07 0.08 0.08
2372 | EHENT |EETFHEME fERET 64188 EE
im 0.09 o.10[ 007 0.07 0.08 0.08
50cm 0.10 0.11 0.06 0.07 0.07 0.07
2373 | RIBERT |FERE PIRETEEF KER 6A278 M=
im 0.1 0.1 0.07 0.07 0.07 0.08
50cm 0.10 0.11 0.09 0.09 0.09 0.09
2374 | iFFENT |REGEFAERERE |(MANREFHEN R 64188 M=
m 0.10 0.11 0.08 0.09 0.09 0.09
50cm 0.08 0.07 0.07 0.06 0.07 0.08
2375 | siEHEIT | IR I 6H188 M=
1m 0.08 0.07 0.05 0.06 0.07 0.07
- 50cm 0.08 o10[ 007 0.06 0.08 0.08
2376 | SEHEWMT |FHFERM P B BT = 4 o 64188 EIES
1m 0.08 0.09 0.06 0.07 0.08 0.08
P . 50cm 0.08 0.09 0.06 0.05 0.07 0.07
277 | g |BETHRESABIEY |y 65188 w0z
1m 0.08 0.09 0.06 0.06 0.07 0.08
_ - 50cm 0.08 0.11 0.06 0.07 0.06 0.07 -
2378 | iEET |EREREZE1SHERF (MBE#HLFHT 6A198 BEREHAH
1m 0.08 0.11 0.05 0.07 0.06 0.08
- 50cm 0.08 0.09 0.06 0.07 0.05 0.08
2379 | siEEIT |LENLERAT PIRETEILF =S 6A198 EIES
1m 0.07 0.09 0.06 0.07 0.07 0.07
- 50cm 0.07 0.09 0.07 0.07 0.07 0.07
2380 | siEFEIT |REKIFHAERA FIERT R EFKIF 6A198 EE
1m 0.08 0.08 0.06 0.07 0.07 0.07
50cm 0.06 0.07 0.06 0.06 0.06 0.07
2381 | iEENMT |EEARERAH P B BT 4 e 6A188 EES
1m 0.06 0.07 0.06 0.06 0.06 0.07
50cm 0.08 0.09 0.08 0.08 0.08 0.08
2382 | SEFHEMT |IRNARE RILETALLFBRA 6A198 EIES
1m 0.08 o.10[ 008 0.08 0.07 0.08
50cm 0.07 0.09 0.05 0.06 0.06 0.07
2383 | RIFENT | REARE FRILETAILIFRE 6A19A EiES
m 0.07 0.09 0.06 0.06 0.06 0.06
50cm 0.07 0.08 0.06 0.06 0.07 0.07
2384 | RIFEWT |BILARE BFILTHE 68198 HE(X)
m 0.07 0.08 0.06 0.06 0.06 0.07
50cm 0.06 0.07 0.06 0.07 0.05 0.07
2385 | SEHT |RFILFHETNREE ME2TH 64198 HE
m 0.07 0.08 0.05 0.06 0.06 0.07
50cm 0.08 0.08 0.06 0.06 0.06 0.07
2386 | EHENMT |SEBFHETEERN |(—HESEFLE 64198 FE(X)
m 0.08 0.09 0.06 0.06 0.08 0.08
50cm 0.07 0.09 0.05 0.07 0.07 0.08
2387 | EEMT |AEERA —ERT/\WEFRELL 6A178 m=E
m 0.07 0.08 0.06 0.08 0.07 0.08
50cm 0.07 0.10[ 006 0.08 0.06 0.09
2388 | RIFEWT |ERARE — ST/ \$EF &) 6A178 =1
m 0.07 0.10[ 006 0.08 0.06 0.09
50cm 0.08 0.13 0.06 0.06 0.06 0.07
2389 | EHEWT |FrEAREE —SHT/\WBF 4 E 6A178 mn=E
m 0.09 0.12 0.05 0.06 0.06 0.07
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EEREBEHRSRE=2YI/RE (RRFHESE) KFE
(FRz26%6 A1 1A~FH2 648 H8HEM)

RF AR ER M RAT (RSHRIL)
BERKEARSE RFHID

EWHEE (uSi/h)
_ _ _ — MEERH AR BE - "—ILF " - kL
No. A e T FR7EHE WEAR |AESS (B5) = " DEH wE
nEEE| PR [wEEx| o) (neEx
R R R
50cm 008 ofo| o006 008 o006 008
2390 | EHENT |EHARME — AT/ \BEE R 6A178 =
im 008 009] 006 007 006 008
50cm 007 o008 005 007 o007 008
2391 | iEHENT |LERARME dtER1TE 6A178 =
im 007 o008 006 007 006 008
50cm 008 008 007 007 009 009
2392 | EHEWT | LEBITNRME TIEAT 68178 R
im 008 008 007 007 008 009
50cm 007 ofo| 005 007 o006 009
2393 | sEHEWT |BRRITNREE —HEMBBFHRR 6A178 % Btk —IL
m 007 ofo| 006 007 007 008
50cm 010| o1 007 008 007 009
2394 | siEENT |BZRARME —HETER 2 R 6A178 =
m 010 011 008 008 008 008
50cm 009| ofo| o006 008 007 008
2395 | iEENT |LHRARE —HETREF)IE 68178 =
im 009| odfo| 007 007 o008 008
50cm 009| ofo| o006 007 o008 009
2396 | EHEMT | LEERKRM —HEBEFLRS 68198 FE(X)
im 008 011 007 007| 008 009
PON PN 50cm of0| 011 006 006 007 008
2307 | sty | TEEARBTRERS | _sarmperp, 6A198 e
m 009 ofo| o006 007 007 009
A7 P 50cm 007 o008 007 007 o010 009
2308 | gy [WESRBERENNE | garngrrum 6A188 = (K)
m 007 008 008 007 o010] o010
N 50cm 009| 009] 006 005 007 007
2009 | sipmar |ARATIRIECVETR | garemy 6A198 X
== m 0.08 0.09 0.06 0.07 0.07 0.08
50cm 009| 009 o006 007 o007 008
2400 | siEHEMT |RRARME —HEMEFERR 64198 ME(X)
m 009| ofo| o006 007 o007 008
N N 50cm 008 009] 006 008 007 008
201 | gy | THRIPEEFHRS | gaeperrmm 6R198 fi=
m 008 009 o006 007 007 009
500m 008 009 o006 005 o008 009
2402 | EHENT |BEMBARNE AT 6A19A KL
m 008 ofol 005 007 o007 008
50cm 010| o1 007 007 o006] 007
2403 | FHENT |BEEHBARNE 12T 64198 M=
m 009| ofol 007 008 007 008
500m 009 o1t 006 006 007 008
2404 | FHENT |BEAEHRERNE EEET 6A178 EIES
m 009| ofo| o006 006 007 008
500m 008 009 o005 006 o006 005
2405 | siEEWMT |REEHBAR fREE 6A178 EE
m 007 008 o006 005 006 006
-~ B 500m 009 009 o007 007 o008 009
2406 | EHEMT (BRI R —RETNREE AT 68178 =
m 008 009 007 007 o008 008
B 500m 007 007 o006 006 o006 006
2407 | EHEWMT |RBETATAR AT 6A178 HE
m 006 007 o006 006 007 007
500m 010| o1 008 009 009 009
2408 | SEHEIMT |7 HRESFT —HETESE T HR 64168 EIES
m o10| ofol 008 009 o008 010
500m 008 008 o006 006 o006 008
2409 | FHEWT | KESNHLVREE XZE1TH 68178 EIES
m 007 008 005 007 o007 007
500m 008 008 005 006 o008 009
2410 | siEFENT |REFAHITNRBAR —HEWR3TH 6A178 ME(X)
m 008 009 o005 006 o007 008
500m 009 ofo| o006 006 o008 008
2411 | 2iRERT |RENEHABEAR —HETAR3TH 6A178 E(X)
m 009 009 o006 006 o008 009
500m 009 oto] o006 007 o008 008
2412 | FEWT |[BRANHLELE— —HEESEFLES 6A178 HE
m 009 ofo| o006 007 o008 009
500m 006 007 o005 006 o006 007
2413 | FHEWNT |BHOBHEYrERE —HEREFM/R 6A178 HE
m 005 007 o005 006 o006 007
500m 007 008 o007 007 o006 007
2414 | EEWMT |ARERH KFETAR 6A208 m=E
m 007 007 007 007 o005 007
500m 010| ot 007 008 008 008
2415 | SEHEWT | TREERM AFEITRE 68208 EiES
m 009 ofo| 007 008 o008 009
500m 007 007 o006 007 o007 007
2416 | SEHEMT |ERER AFETER 6H208 KIEM
m 006| 008 o006 007 o006 008
500m 008 008 o007 007 o007 008
2417 | EENMT | LRBARSE AFETEME 6A208 mn=E
m 007 007 o007 007 o006 007
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EEREBEHRSRE=2YI/RE (RRFHESE) KFE
(FRz26%6 A1 1A~FH2 648 H8HEM)

RF AR ER M RAT (RSHRIL)
BERKEARSE RFHID

EWHEE (uSi/h)
_ _ _ — MEERH AR BE - "—ILF " - kL
No. A e T FR7EHE WEAR |AESS (B5) = " DEH wE
nEEE| PR [wEEx| o) (neEx
e e e
_ 50cm 009| ofo| 006 006l 007| 007
2418 | FHENT |FRARMKE KRBT E=FmER 68208 R
im 008 009] 007 o006 007 007
50cm 006| 006] 007 007 007| 007
2419 | FHENT |FEARE ANETL=FFE 68208 =
im 006| 006] 007 007 007 007
50cm 006| 007 005 006 005 008
2420 | EHEWT | KEBRKRM AFBIE=FKREH 6A208 FE(X)
im 006 007 005 o006 005 007
50cm 006| 009] 006 008 005 008
2421 | FHENT | LMEARE AKFET /NG 6A208 FE(X)
im 006| 008 006 008 006 008
e ae R 50cm 005 007 005 007 005 007
222 | g |SIEORBC/URER \mae yrme 6A208 e
im 005 007 005 007 005 007
- _ 50cm 006| 008 006 007 006 007
2423 | SRENT |RFRESH RAFETKINZ 6H208 ME
im 006| 008 006 007 006 007
50cm 006| 008 005 007 005 007
2424 | SFEWT | KIIERF AFETA)IE 6H208 FE(X)
im 006| 008 005 007 006 008
- o 50cm 006| 009] 005 007 005 007
2425 | sigEmT |EIIKKRA AFETENIFHAER 68208 A=
m 006| 008 005 007 005 007
- o 50cm 009| 009] 006 007 007 008
2426 | SEENT |RHERM AFETENZ 6H208 M=
m 009| ©009] 006 006 006 008
50cm 006| 008 005 006 005 008
2427 | FHEWMT |NAARE KEE/NAFER 6H208 M=
m 006| 008 005 007 005 007
50cm 006| 007 005 006 005 006
2428 | siFFEIT |BERES NSV E— AT AIFERE 68230 HE(X)
m 007| ©006] 005 006 005 006
PRSP P 50cm 007| 008/ 005 005 006 007
209 | gty | RERFMETEEST | smanr 6A238 = (K)
= m 007| 008 005 006 006 006
50cm 008 009] 005 007 007 008
2430 | iEENT |THREREMN EETAMFTRE 68208 =
m 007 ©009] 005 007 007 008
50cm 006| 007 005 005 005 006
2431 | SRENT |RARE RETHAE 6A238 HE
m 006 007 005 005 005 007
50cm 007 007 007 007 006 007
2432 | 2BEWRT |REERSH EETERFR/ b 68238 KIEM
m 006| 008 007 008 006 007
50cm 006| 007 005 005 006] 006
2433 | EENMT |BEBRERMN EETERTIES 6A238 ME(X)
m 006| 007 005 006 005 007
- 50cm 008 ofo| 006 007 006 008
2434 | sEEWT |BIRPHEERA FEETERTFRIR 6A238 EIES
m 007 009] 007 007 007 008
- 50cm 007 007 005 006 005 006
2435 | SEEWMT |BIERAET EETERRTFAAR 6A238 ME(X)
m 006 007 005 007 005 006
- 50cm 009| 011 006| 008 007 008
2436 | EFEWMT |PEERA EETRHRTRE 6A238 KR
m 009| odfo[ 006 007 007 008
- 50cm 006| 007 005 006 005 006
2437 | EHEWT | KHATHERRA EETHRFFHRHF 6A208 ME(X)
m 006 006] 005 005 006] 006
50cm 009| o012 006 o006 008 008
2438 | FHIT YA BEARE FEETRFFOYE 6A208 EIES
m 009 011 006| 007 007 008
50cm 007 o008 006 007 006 007
2439 | EHEWMT |EILEES BOER EETRAHFEHR 6A208 KIEM
m 007| o008 006 007 005 007
50cm 008 ofo| 006 008 008 009
2440 | RIBEWRT |FOOKEFHR EETARFFF/O 68208 EiES
m 008 ofo| 006 008 008 009
" a 50cm 008 009] 006 o006 007 008
2t | g |SURLREEURER | mum 68208 fi=
= =ine m 006| 009] 005 006 007 008
50cm 0.1 014 008 009 009 o010
2442 | EEWMT | TRHANRE EREET TR 6A238 MECN)
m o12| 013 008 009 009 012
50cm 010 011 006| 008 009 0.0
2443 | EHEWT | TRHAFHERA R EET T 6A238 m=E
m 0.1 0.1 007| 008 008 009
] 50cm 008 ofo| 006 007 009 o011
2444 | EFEWT |82 BERIER BT )IER 6A238 mn=E
m 008 009] 007 008 009 012
50cm ot0| o0i12] 007 009 009 011
2445 | SEENT |HEEARE dteEmEE 6A238 mn=E
m o10| 011 008 008 008 o1
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EEREBEHRSRE=2YI/RE (RRFHESE) KFE
(FRz26%6 A1 1A~FH2 648 H8HEM)

RF AR ER M RAT (RSHRIL)
BERKEARSE RFHID

EEHEE (£Sv/h)
. ) i _ [TEmEAo WE A —ILE 5 s
No. | ErHt KSR PR BEAR [RAEES| (B = = oa %
nEEE| PR [wEEx| o) (neEx
R R R
50cm 0.09 0.09 0.07 0.07 0.08 0.09
2046 | RBEIT |HHS BNERIER LRREEE 65238 EE
m 0.08 0.10 0.07 0.08 0.08 0.08
50cm 0.10 0.12 0.08 0.07 0.10 0.1
2447 | SFENT |(PEARSE JtigEhE 68238 =
m 0.10 0.11 0.08 0.09 0.08 0.11
50cm 0.16 0.20 0.08 0.08 0.09 0.1
2448 | FHEWT |ARARME dt&ZEAR 68238 FIES
m 0.14 0.17 0.09 0.10 0.10 0.10
50cm 0.09 0.10 0.07 0.08 0.08 0.09
2009 | RpENT |BHLSEMNERER | L2REEML 65238 HIZ ()
m 0.09 0.09 0.07 0.08 0.09 0.11
. Py N 50cm 0.07 0.09 0.06 0.08 0.07 0.09
20 | gty |[ZRERENRRALR | ypopmeam 6248 #E
im 0.07 0.10 0.07 0.07 0.08 0.09
50cm 0.09 0.12 0.06 0.08 0.08 0.11
251 | RBENT S/ TSAMNEREE  |L2RHE/T 65248 I
m 0.09 0.13 0.07 0.08 0.09 0.13
50cm 0.13 0.17 0.07 0.10 0.09 0.12
2452 | EHEWT AR L& 6A24R =
m 0.11 0.16 0.08 0.10 0.09 0.12
50cm 0.07 0.08 0.07 0.08 0.08 0.09
2453 | RBENT |HRARE SLRBATHR 65248 EE
im 0.07 0.07 0.06 0.08 0.08 0.10]
50cm 0.11 0.15 0.07 0.09 0.08 0.10
2054 | RpENT |ALARE(GLERF)  |dLaEraL 65248 EE
im 0.1 0.14] 0.08 0.09 0.08 0.10]
_ 50cm 0.06 0.09 0.06 0.07 0.07 0.09
2455 | EHEWMT |PRHES BRI Jt&EET R 68248 =1
im 0.07 0.09 0.07 0.08 0.08 0.09
_ =~ —= N 50cm 0.09 0.10 0.06 0.07 0.08 0.09
206 | sty |FAORARISTIEY | ypopurpig 65248 = (X)
im 0.09 0.1 0.06 0.08 0.09 0.10]
_ 50cm 0.07 0.09 0.07 0.08 0.08 0.10
257 | aEnm |ZRITS BMELH dt&REr= RE 65248 =
im 0.07 0.09 0.07 0.08 0.08 0.1
50cm 0.08 0.10 0.07 0.08 0.09 0.09
2458 | SEENT |RRELARE LSRR E 68248 M=
im 0.08 0.1 0.08 0.09 0.09 0.09
50cm 0.07 0.08 0.06 0.07 0.07 0.07
2459 | SEHEMT |SHRARE RS IR 68248 EE
im 0.07 0.08 0.07 0.07 0.07 0.07
50cm 0.10 0.10 0.07 0.08 0.11 0.13
2460 | RBEINT |SEARE SRR 65248 AIER
im 0.09 0.10 0.08 0.08 0.12 0.13
50cm 0.12 0.13 0.07 0.08 0.07 0.09
2061 | 2pEnm |EHARE SLRRATEA 65248 HIZ ()
im 0.12 0.12 0.08 0.09 0.08 0.09
_ 50cm 0.08 0.09 0.07 0.07 0.08 0.09
262 | RBENT |ENS BNERIER SeRAES 65248 HIZ ()
im 0.09 0.10 0.06 0.08 0.06 0.09
= N = 50cm 0.11 0.12 0.07 0.09 0.08 0.10
2063 | gty |FAMANREERIE |0 pmanym 6A248 fo=
= im 0.10 0.12 0.08 0.08 0.09 0.10
_ 50cm 0.09 0.11 0.08 0.08 0.07 0.09
264 | RBENT | KRS BHERIER SRREAETAE 65248 HIZ ()
im 0.10 0.10 0.07 0.09 0.09 0.10
o - - 50cm ot0| oi1| o008 008 009 0.0
2465 | RBEIT |+ FERT LLRE+-FE+=F | 78238 HIZ ()
im 0.10 0.11 0.08 0.09 0.09 0.10
e, N s 50cm 0.11 0.14 0.08 0.08 0.09 0.08
26 | ity L AT FHBAREER |y o b ysg 6A23A HE )
= im 0.10 0.13 0.09 0.09 0.08 0.09
50cm 0.08 0.10 0.05 0.07 0.06 0.08
2067 | RspEIT |PHELRE JLREET LRI 6A238 =
im 0.07 0.09 0.06 0.07 0.07 0.08
50cm 0.09 0.09 0.06 0.07 0.08 0.09
2468 | EHEMT |THARME tREETE 6H238 m=E
im 0.08 0.10 0.06 0.08 0.07 0.09
50cm 0.08 0.12 0.06 0.08 0.07 0.10
2469 | SEHEWT |EBARE PR3 4= 6H238 m=E
im 0.08 0.12 0.07 0.08 0.08 0.09
50cm 0.08 0.10 0.05 0.07 0.07 0.08
2470 | RpEIT |FEHEARE LRRMELRE 6A238 =
im 0.07 0.09 0.05 0.08 0.07 0.08
N N 50cm 0.07 0.09 0.06 0.07 0.07 0.08
a7 | gy |MEFAREGERRS |3 o parires 65238 =
im 0.07 0.08 0.06 0.06 0.07 0.09
50cm 0.13 0.17
un2 | apEnm (KBRS SRR 65238 BAOHE
im 0.13 0.16
50cm 0.08 0.09 0.05 0.07 0.07 0.09
2473 | SEHEWMT |EEARE dtEEmER 6H238 M=E1
im 0.08 0.08 0.06 0.08 0.07 0.09
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EEREBEHRSRE=2YI/RE (RRFHESE) KFE
(FRz26%6 A1 1A~FH2 648 H8HEM)

RF AR ER M RAT (RSHRIL)
BERKEARSE RFHID

EM@EE (uSv/h)
_ _ ) | mmEAD EHE - h—ILE HE - FLE
No. A KSR FRAEHL WEAR |MEES | (B - "= e %
nEEE| PR [wEEx| o) (neEx
#E #E #E
50cm 0.07 0.08 0.06 0.06 0.07 0.08
2474 | RBENT |IMAS BHRRIER EES= N 6A230 iz
im 0.07 0.08 0.06 0.06 0.06 0.08
50cm 0.07 0.09 0.06 0.07 0.06 0.09
2475 | REENT (RS EHERIER sEETRUMATREG) | 65258 FIZE (X)
im 0.07 0.09 0.06 0.08 0.06 0.08
50cm 0.08 0.14] 0.06 0.07 0.06 0.08
2476 | RiEENT |BERELRME EES Sy 6A250 FIZE (X)
im 0.08 0.13 0.06 0.08 0.07 0.09
50cm 0.10 0.15 0.07 0.09 0.08 0.11
2477 | RBENT |REHFBRRF A& RETRR A ST B 6A250 KIEM
im 0.10 0.14] 0.07 0.08 0.08 0.12
_ 50cm 0.08 0.10] 0.06 0.08 0.07 0.09
2478 | FHEWT | REARE (KGR |[LEHXE 68250 =
im 0.08 0.10] 0.06 0.07 0.07 0.09
50cm 0.11 0.15 0.06 0.07 0.09 0.11
2479 | FHENT | KBARME ElES= PN 68250 =
im 0.1 0.14] 0.07 0.07 0.08 0.1
50cm 0.11 0.15 0.06 0.09 0.09 0.12
2480 | RiEENT |LHEERH A EATL 6A250 fE
im 0.10 0.15 0.06 0.09 0.09 0.1
50cm 0.11 0.16 0.06 0.07 0.07 0.09
2481 | iEHEIMT |HRARME Jt&EETHER 64308 EIES
m 010 o015 o006 o008 007 009
_ 50cm 0.08 0.11 0.07 0.07 0.08 0.11
2482 | RIBENT | FRESBNERIED AT RIZ 6A258 fE
m 008| o012 o006 007 o008 o012
50cm 0.07 0.11 0.06 0.07 0.07 0.07
24g3 | sty QIR TARBOIRTRE | o pmr g 68258 e
m 00s| o011 o006 007 o006 007
_ 50cm 0.08 0.12 0.07 0.08 0.07 0.08
2484 | EEWMT |HBRKRH L&A T KR 68250 M=
m 008| o012 007 o009 o008 o008
50cm 0.09 0.10] 0.06 0.08 0.09 0.09
2485 | RIBENT | SARERH AR = A 6/248 fE
m 009| o010 007 o008 008 009
_ 50cm 0.10 0.10] 0.09 0.09 0.09 0.11
2486 | T |BRRERH ARETEEFARR 7R98 KIEM
m 010 oto] 009 ofo] 009 011
. PN 50cm 0.09 0.08 0.05 0.05 0.08 0.09
27 | g | ERERNRELY \gpmrmesr 6A258 KIERS
m 00s| o008 o006 006 008 008
_ 50cm 0.08 0.10] 0.06 0.06 0.08 0.08
2488 | iEHEIT |LEBEERA SR ERT IS B AR R 68250 EE
im 0.09 0.09 0.06 0.06 0.07 0.09
50cm 0.09 0.10] 0.07 0.08 0.08 0.09
2480 | REENT |ARAEERRHE AREEEFER 6A258 fE
im 0.10 0.09 0.08 0.08 0.08 0.09
[y 50cm 0.08 0.10] 0.07 0.07 0.07 0.08
20 | g |FRARBRERECY \oememrns 6A258 fi=
im 0.09 0.10] 0.07 0.07 0.07 0.08
50cm 0.07 0.09 0.06 0.07 0.06 0.09
2491 | REENT |BESENEEELI—  |ARMAGAE 6H248 FIZE (X)
im 0.07 0.09 0.06 0.08 0.07 0.07
50cm 0.09 0.06 0.11 U 4 i wrs
2492 | SbEA [WASEMEHCL S~ [FRETA sR2A nER) HEBRERERRAEORD. MEBE
im 0.10 0.07 0.10) TRARTR
50cm 0.07 0.09 0.06 0.08 0.07 0.09
2493 | RRENT |ARMARMEHEAE | AREMABTHER 78108 fE
im 0.07 0.10] 0.06 0.08 0.07 0.09
50cm 0.09 0.12 0.06 0.08 0.07 0.08
2494 | RBENT (MESENEELLA—  |AREEETIERE 6H248 FIZE (X)
im 0.08 0.11 0.07 0.08 0.06 0.08
50cm 0.08 0.10] 0.05 0.06 0.07 0.08
2495 | iEEHT |BIIRS B LR AT 4 F P ENIR 6H248 FIZEON)
im 0.07 0.09 0.06 0.07 0.07 0.08
50cm 0.07 0.08 0.05 0.06 0.05 0.07
2496 | REENT |RHSEMEELLI— | ARASEFEIRHE 6H248 I (X)
im 0.08 0.08 0.06 0.07 0.06 0.08
50cm 0.08 0.11 0.06 0.07 0.07 0.10]
2497 | RiEENT |HILBEMEELLS— | AREGELFIL 7R18 I (X)
im 0.08 0.13 0.07 0.08 0.08 0.09
50cm 0.09 0.10] 0.06 0.07 0.11 0.13
2498 | REENT |BHSEMEELLI—  |ARELTES 6H248 I (X)
im 0.08 0.11 0.06 0.08 0.11 0.12
50cm 0.09 0.14] 0.06 0.08 0.09 0.12
2499 | REENT |HEHRETHELLI—  |ARMEEHEMIL 6A 268 I (X)
im 0.10 0.13 0.07 0.08 0.10] 0.12
50cm 0.08 0.15 0.05 0.06 0.07 0.08
2500 | REENT |RAHORE ARMREERTERSH 7R238 FIZE (X)
im 0.08 0.14] 0.05 0.07 0.06 0.08
50cm 0.08 0.10] 0.06 0.08 0.07 0.08
2501 | REENT |REHESH ARMREERTRSH 6A 268 fE
im 0.07 0.12 0.07 0.08 0.07 0.08
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EEREBEHRSRE=2YI/RE (RRFHESE) KFE
(FRz26%6 A1 1A~FH2 648 H8HEM)

RF AR ER M RAT (RSHRIL)
BERKEARSE RFHID

EREEE (15v/h)
: ) ) _ [Tmm#ixm HE S E S A
No. | miErHt SHEAH FEHD #EAR |wEss| (B . " e %
nEEE| PR [wEEx| o) (neEx
R R R
== . = 50cm 0.09 0.10 0.07 0.08 0.07 0.09
2502 | gt |Ban i RARE BE | gemmanens 6A258 SHMR—L
m 0.08 0.09 0.08 0.08 0.07 0.09
- _ 50cm 007| 009] 006 007 008 009 ] . )
2508 | RiEIT |FILERH ARBAEHTREL 6A278 = FLE TR E TR LR — R
m 0.07 0.09 0.06 0.08 0.07 0.09
50cm 0.10 0.1 0.05 0.07 0.07 0.08
204 | gy |FAMASRERANE \gpmememanm | oAza =
= im 0.10 0.12 0.06 0.08 0.06 0.09
50cm 0.07 0.10 0.07 0.10 0.08 0.11
2505 | RiENT |HERSBNEE LI~ |TREBLTHEH 6A268 =
im 0.07 0.10 0.07 0.09 0.09 0.11
50cm 0.09 0.11 0.07 0.08 0.08 0.11
2506 | RipEIT | hFRARE ARMAERTEOE | 68258 #=
m 0.08 0.12 0.07 0.09 0.08 0.10
_ 50cm 0.09 0.10
2507 | RipEIT |—AKERF ARMAERTESH | 68268 BADHHE
m 0.09 0.10
50cm 0.08 0.09 0.05 0.06 0.08 0.08
2508 | siEEIT |/\BHIE SARET/\AF/\BE 68268 =
m 0.09 0.09 0.06 0.06 0.07 0.07
50cm 0.08 0.10 0.05 0.06 0.06 0.06
2509 | sEHEIMT | KKAREE J\BF R 6A26R EE
im 0.08 0.09 0.05 0.06 0.06 0.07
50cm 0.09 0.09 0.07 0.07 0.07 0.08
2510 | iEHEMT |RAARME SARAET/\BAFHRR 7818 M=
im 0.08 0.09 0.08 0.07 0.06 0.08
50cm 0.06 0.08 0.05 0.06 0.05 0.07
511 | KipENT |ANSENEAS—  |ARE\ETERAR | 68278 = (X)
im 0.07 0.08 0.05 0.06 0.05 0.07
50cm 0.11 0.13 0.05 0.06 0.07 0.07
2512 | KipEnT |ARNABRARE FARE\BEXEE 6A208 =
im 0.10 0.12 0.05 0.07 0.06 0.07
50cm 0.06 0.09 0.05 0.06 0.06 0.07
2513 | RipENT |FREENEELLI—  |ARANBTER 6A278 = (X)
im 0.07 0.08 0.05 0.06 0.06 0.07
50cm 0.08 0.1 0.06 0.07 0.07 0.09
514 | KipENT |ARAARBERSE | AREETR/ & 6A278 =
im 0.08 0.12 0.06 0.08 0.07 0.10]
50cm 0.07 0.09 0.07 0.07 0.08 0.09
2515 | RipEnG |[TRNTARBEARAE |ARIA\BTRE 6A208 =
im 0.07 0.08 0.07 0.08 0.08 0.08
50cm 0.07 0.12 0.05 0.07 0.06 0.08
2516 | AT |EHTSEMNEE LI~ [ARE\BTET 6A278 =
im 0.08 0.11 0.06 0.08 0.06 0.08
k= = e 50cm 0.08 0.11 0.06 0.06 0.06 0.07
2517 | gty |BEAMTMREECER |\ meiRE 6A208 nER)
= im 0.08 0.10 0.06 0.06 0.05 0.07
50cm 0.06 0.09 0.06 0.08 0.07 0.09
2518 | RipEIT |EHESANEE L I— |ARIRSETHA 6A278 = ()
im 0.07 0.10 0.06 0.08 0.07 0.09
50cm 0.10 0.11 0.07 0.07 0.09 0.10
2519 | RipENT |SRBARME ARATEAR 6A268 =
im 0.11 0.11 0.08 0.08 0.09 0.10
_ 50cm 0.10 0.11 0.07 0.09 0.10 0.12
2500 | REEIT | REHERH ARBIEHERER 6A268 =
im 0.10 0.11 0.08 0.09 0.10 0.12
. 50cm 0.12 0.13 0.08 0.09 0.10 0.12
2501 | KipEAT | LEHARE ARBIEH RS 6A258 =
im 0.12 0.13 0.09 0.10 0.10 0.12
50cm 0.10 0.11 0.06 0.07 0.10 0.10
2500 | RiEIT | AFIESBMEE L I— |ARATKBREH D 6A278 = ()
im 0.09 0.10 0.06 0.07 0.08 0.11
50cm 0.08 0.10 0.06 0.07 0.07 0.09
2503 | RipENT |[TRNARBHENE | ARIABRRTHR 6A268 HIZ (X)
im 0.08 0.11 0.06 0.08 0.07 0.09
50cm 0.11 0.16 0.07 0.08 0.09 0.10
2504 | 2N |ABSENEELLS—  |ARAABRTHE 78238 HIZ (X)
im 0.12 0.16 0.07 0.09 0.08 0.11
50cm 0.09 0.12 0.06 0.08 0.09 0.11
2505 | RENT |REEMEELLI—  |AREERTRE 6A268 HIZ (X)
im 0.09 0.12 0.08 0.09 0.09 0.11
50cm 0.09 0.13 0.07 0.09 0.08 0.10
2526 | EHENT |EERREEARNE ARETESFHEEHR 6H268 m=E
im 0.09 0.13 0.07 0.09 0.08 0.10
50cm 0.13 0.15 0.08 0.10 0.09 0.11
2507 | RiEIT | KHARE ARBERT A 6A268 =
im 0.12 0.15 0.08 0.10 0.10 0.11
50cm 0.08 0.09 0.07 0.07 0.08 0.08
2508 | SENT |RESANEELI—  |[ARERETRE 6A268 HIZ (X)
im 0.09 0.09 0.07 0.07 0.07 0.08
50cm 0.11 0.13 0.07 0.08 0.10 0.12
2500 | REIT | KITERF FIRATR BT 6A258 HIZ (X)
im 0.11 0.14 0.08 0.09 0.10 0.12
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EEREBEHRSRE=2YI/RE (RRFHESE) KFE
(FRz26%6 A1 1A~FH2 648 H8HEM)

RF AR ER M RAT (RSHRIL)
BERKEARSE RFHID

EMREE (15/h)
) ) ] _ [mmmAD HE % SR
No. | Tt SFEATH it WEAR |MEEE | (B -, Ry %
nEEE| PR [wEEx| o) (neEx
R R R
50cm 0.17 0.19 0.07 0.09 0.10 0.12
2530 | KpENT |[ARARBIMSE ARETR AT 6A268 KIERS
m 0.14 0.17 0.08 0.10 0.11 0.12
o . 50cm 0.11 0.14 0.07 0.08 0.09 0.10
2531 | FHENLT |BEARME SARBTARFE M 68268 =1
m 0.12 0.16 0.07 0.09 0.09 0.11
o . 50cm 0.14 0.15 0.08 0.10 0.11 0.14
5% | KEENT |[HESEANETA—  |AREARTRT 6A278 =
m 0.12 0.15 0.09 0.10 0.11 0.13
50cm 0.11 0.12 0.06 0.07 0.09 0.11
2533 | SRENT |BLARE FRBILT =K 6A278 =
m 0.10 0.11 0.06 0.08 0.09 0.10
50cm 0.11 0.12 0.08 0.09 0.11 0.12
253 | RpENT |AESENETLLS— | ARABLTAE 6A27E HE )
im 0.10 0.12 0.07 0.10 0.10 0.11
P N == o — = 50cm 0.09 0.09 0.08 0.07 0.07 0.08
2505 | st | S RTTEARASTA Jar gy 6A2A e
m 0.09 0.09 0.08 0.08 0.08 0.08
P \ = —= 50cm 0.08 0.09 0.09 0.09 0.09 0.08
2506 | st | n i AHERASTL |y 6A2A ELE
m 0.08 0.09 0.08 0.08 0.07 0.07
P \ Fpp—— 50cm 0.08 0.09 0.08 0.08 0.08 0.08
2537 | SERT Eff_*"‘mmtll_T{ BT 6H268 Haw
im 0.08 0.09 0.07 0.08 0.07 0.08
P \ pp—— 50cm 0.09 0.10 0.10 0.09 0.08 0.09
2508 | sty S MTREIRASTA |y T 6A278 #E=
im 0.09 0.10] 0.08 0.09 0.09 0.10]
P \ | Fpp—— 50cm 0.09 0.10 0.10 0.10 0.09 0.10
2509 | sty |SoA BT ERIRASTA | g gaTR 6A278 opsRIE
im 0.1 0.1 0.10] 0.10] 0.10] 0.09
N —— — = 50cm 0.09 0.10 0.09 0.09 0.08 0.08
E-3 i1 = -
2500 | gt SR LT RETRAZTS | gagarmaT R 6A25A s
im 0.09 0.10] 0.09 0.08 0.09 0.08
P \ pp—— 50cm 0.10 0.10 0.07 0.08 0.08 0.09
2501 | sty | MMEARRASTA gy 6A278 %oz
im 0.10 0.09 0.07 0.08 0.08 0.09
P \ pp—— 50cm 0.08 0.10 0.08 0.07 0.08 0.09
2502 | gty SRS MTARARASTS |gegTh 6A278 oz
im 0.08 0.09 0.08 0.07 0.08 0.09
P . pp—— 50cm 0.09 0.10 0.08 0.07 0.06 0.07
2503 | ipsstih | B n EEERASTA ) gy 6A2A %2z
im 0.09 0.09 0.07 0.07 0.06 0.07
_ 50cm 0.07 0.08 0.05 0.07 0.08 0.13
2504 | RBEIT |RRTEETEET *HK2TH 78108 £2E
im 0.06 0.07 0.05 0.07 0.08 0.12
o oy 50cm 0.07 0.08 0.06 0.06 0.07 0.09
2505 | gy |DNTSWOTBRTHELE g, gy 78108 #=
= im 0.07 0.07 0.06 0.06 0.07 0.09
_ 50cm 0.06 0.07 0.06 0.06 0.06 0.08
2506 | SipEI WA SRS EssRT 78108 #=
im 0.06 0.08 0.06 0.07 0.08 0.08
_ 50cm 0.06 0.09 0.06 0.08 0.07 0.09
2507 | RiBENT |BICEEST e 78108 #E
im 0.06 0.08 0.06 0.07 0.07 0.09
_ . 50cm 0.07 0.09 0.06 0.07 0.06 0.09 _ _
o508 | RipENT |ELRRHEEEEST | ARAREHEL 6A278 iz FUERTEF 6
im 0.07 0.09 0.06 0.08 0.07 0.09
_ 50cm 0.09 0.14 0.06 0.08 0.07 0.11
2509 | SipEAAT |ATILERTR BT AL BT b /53 78108 Hi1%aE
im 0.09 0.13 0.07 0.08 0.08 0.11

XIAIERAEHR IS, FR255F9A258 511 A20BICEELIBEERBEREBMRE=SY VAL (EEHFE4E) BT 2AERE.
MR 2 BEAEHRIEE. FR25F2A5AMNH3A28BICRELIMBRRREKSRE=SI V/RE (REFMEIE) BT HREHR. TOMITOVTE, HEMERS S,
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